soldel. 8.3 1 & pdudl 2 W9E w)-S Doolueyl W31 @ ogils
lelw @ HLEYI B " Wolb @ dylas
o goy A& LY 2010 S 21 fylowdl paadS @ dg»
(08) @ 1 o—ss
by g qusi
A=5-25 +36 . B=8/5+2J5-45 52
C=3/12-2/48+2.3 ; D:%x% 02
7 02
14 . 27><311><23><(32)
B= g Va2 N
2 4 a\7
: (2] (2] <[]
G=(V3-2) -(3+V2)(3-V2) i H= e &2
(V2] (2)

(06): 2 — <k

plLill g i3l J)1 (1

A:3+J§ , 5__5

22 J7-2

J Lol LS sus (2
A=-0.000000000201 © B=111x10"*?x3x10™
(06): 3 g— <k
G :,“.: |o’¢lo’0 EFG os”]
C(Jsédr sf) EF=3cm ; EG=4cm ;  FG=5cm
) 5 E ¢ p5L8 EFG ol oo (1
. GM =7cm éuz (EF) auibiwedd odis M dhis gdoi (2
EM cuwei (3
E 3 F
Ul psisy www.ahmedmath.c.la

Ry




